

$$Ans1 = \left[\begin{array}{l} .1 = \left[\begin{array}{ll} A = 30^\circ & a = (42\sqrt{2} = 59.40) \\ B = 105^\circ & b = (42 + 42\sqrt{3} = 114.75) \\ C = 45^\circ & c = 84 \end{array} \right] \\ .2 = \left[\begin{array}{ll} A = 30^\circ & a = 90 \\ B = 30^\circ & b = 90 \\ C = 120^\circ & c = (90\sqrt{3} = 155.88) \end{array} \right] \end{array} \right], \quad \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array}$$

$$Ans2 = \left[\begin{array}{l} .1 = \left[\begin{array}{ll} A = 30^\circ & a = 60 \\ B = 120^\circ & b = (60\sqrt{3} = 103.92) \\ C = 30^\circ & c = 60 \end{array} \right] \\ .2 = \left[\begin{array}{ll} A = 30^\circ & a = (33\sqrt{2} = 46.67) \\ B = 45^\circ & b = 66 \\ C = 105^\circ & c = (33 + 33\sqrt{3} = 90.16) \end{array} \right] \end{array} \right], \quad \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array}$$

$$Ans3 = \left[\begin{array}{l} .1 = \left[\text{area}ABC = \left(\frac{3267}{2} - \frac{1089\sqrt{3}}{2} = 690.398 \right) \right] \\ .2 = [\text{area}ABC = (225\sqrt{3} = 389.711)] \end{array} \right], \quad \begin{array}{l} M \\ a \\ t \\ h \end{array}$$

$$Ans4 = \left[\begin{array}{l} .1 = [B = 60^\circ, C = 75^\circ, c = (18 + 18\sqrt{3} = 49.18), \text{area}ABC = (162\sqrt{3} + 486 = 766.592)] \\ .2 = [B = 120^\circ, C = 15^\circ, c = (18\sqrt{3} - 18 = 13.18), \text{area}ABC = (486 - 162\sqrt{3} = 205.408)] \end{array} \right], \quad \begin{array}{l} @ \\ M \\ U \\ T \\ : \\ :D \end{array}$$

:
:

